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SOCIOLOGY
Paper 111
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This question paper contains seventy five (75) multiple choice questions.

Each question carries two (2) marks. Attempt all questions.

1. O s Phenomenclogy, the notion of the ‘significant others’ is in
built.
(A) Schutz's (B) Berger's
(C) Garfinkel's (D)  Goffman’s

2. According to Berger and Luckmann social reality is constructed through a
triadic scheme of subjectification, objectification and................... .
(A)  Abstraction _ (B) Factual
(C) Socialization (D)  Normative

3. Which of the following pairs is not correctly matched ?
(A) Schutz—Habitual Knowledge
(B) Berger—Social Reality
(C) -Haharmas—Life World

(D) Husserl—Indexical Expression

T.B.C. : 1414/ETIII 2
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4.  Among the following, who is not post-modernist thinker ?

(A) Daniel Bell (B) Jean Baudrillard

(C) Pierre Bourdieu : (D) Jacques Derrida
5. M. Foucault’s research analysis covers :

(a) Knowledge system (B) Prisons

(C) Asylums ' (D)  All of these

6. Hindi is spoken by the_ highest number of people followed by.................
(A) Bhojpuri (B} Oriya
(C)y Telugu (D) Punjabi

7. S.C. Dube conducted a descriptive study of village................c.... .
(A) Rampura (B) Shamirpet

(C) Kishangarhi (D) Chhota Nagpur

T.B.C.: 1414ETII 4
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B el views caste as a segmentary system of Indian society.
{A) 8.C. Dube (BY D.P. Mukherjee
(C) M. N. Srinivas (D) Irawati Karve

9. According to A.R. Desai, the cause for the agrarian struggle in the past

was f'pr the. ..o )
(A)  Wages (B} good prices of produce
(C) share in development (D)  subsidy

10. “The study of traditional structure of Indian Civilization should be done in

phase of expansion and confidence’, Who said this ?
(A) Surajit Sinha (B) N.K. Bose
(C) B.R. Ambedkar (D) L.P. Vidyathn
11. The word Dalit’ indicates :
(A)  Struggle for power (B) Oppressed and exploited

(C) Both (A) and (B) (D) None of these

T.B.C.: 1414ET-III 6
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12, World Economic Forum in 2013 in its ‘Global Gender Gap Report’ has placed

e M R ;
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13.  Genetically Modified Crops are claimed to be :
(A} - Pest-resistant (B)  Disease-resistant
(C)  Drought tolerant (D}  All of these

14, According to Yogendra Singh, modernization in India is being carried forward
.through adaptive changes in the traditional structures rather

1 37 b P )

(A) Technological dissociation (B) Industrial dissociation

(C)  Structural dissociation {D) Information dissociation
15. C. Lombrosa presented a/an.................... -.....theory of deviance.
(A)  Physiological . - (B) ngchological
‘. (C) Economic | (D) Cultural

TB.C. : 1414/ET—II 8
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17.

18.

19.

According to Merton, deviance originates from.................... :

(A) Pathological personalities

(B} Culture and structure, of society

(C) Progress

(D) Industrialisation

In India, Globalization started with new economic policy ...

(A} 1990 - (B) 1991

(Cy 1992 (D) 1993

“The Remembered Village' is the empirical study done in :
(A) Rampura (B) Kishangarhi

(C) Sripuram (D) Mahuva

Who has made a study of “Folk Culture of Yucatan” ?
(A) RXK. Mukherjee (B) Robert Redfield

(C) P. Sorokin (D) C. Zimmerman

T.B.C.: 14N4/ETIII 10
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21.

22,

23.

An agrarian society is associated with..................... .

(A)  Agriculture (B) Domestication of animals

(©  Both (A) and (B) (D) Neither (A) nor (B)

A classical example of pastoral economy is pmw.ride;:l- by the.....coceeereeeersnns tribe.
(A) Baiga (B) Toda

(C) Bhil _ (D) Jarwa

The members of an agrarian economy exhibit a strong.............cce... feeling.
(A) Communal (B) In-group

[ﬁ} Out-group (D)  Nationalistic

The most fundamental differences between rural and urban society pertains

B0 s 3

(A) Mode of transport

(B) Class

(C) Danger of natural calamities

(D) Occupation

T.B.C.: 1414ET—III 12
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24, The most significant governmental measure for rural uplift since

Independence has been................... i
(A) Cooperative farming
(B) Loan
(C) Panchayat System
(D)  Abolition of Zamindari System
25. Rewards in t]:ue Jajmani system are related to :
(4) ‘The hierarchical status
(B) The economic value of services rendered
(Cy Both (A) and (B)
(D) Neither (A) nor (B)
26. Moplah peasants belong to............... ;
" (A)  Gujarat (B) Kerala

(C) Uttar Pradesh (D)  Bihar

T.B.C.: 1414/ET—III 14
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27.

28.

20,

30.

A.C. Maver's St';u-::'l:,r of Village is primarily concerned with :

(A}  Economic relations (B)  Political relations

(C) I{jnsh_ip relations (D} Neighbourhood relations
Nilokheri Project was launched for the :

(A) Village development (B) Tenancy rights

(C) Settlement of refuge;s (D) R&@wa] of bonded labour

The highest growth rate of industrial output has been recorded during the

year :
(A)  1991-92 , {ﬁ} | 1993-94

(C) 1994-95 (D) 1995-96
............................. is an important aspect of industrial society.
(A)  Democracy (B) Welfare state
(C) Communism (D}  Capitalism

T.B.C. : 1414/ET—III 16
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31. “The Coming of Post-Industrial Society” is written by :
(A) M. Weber (B) A. Touraine
(C) Daniel Bell (D) W.E. Park
32. The manner of placem«‘;nt in the Industrial society is based on :
(A)  One's seniority (B) One’s prospective ability
(C) One's birth order (D) Family guidance
33. In successful industrial organization the demands posed for ;
(A)  the need of production coordination
(B) the need for mobilizing human capacities
(C)  both (A) and (B)

(D) None of the above

3h, is usually thought of as an early expression of industrial
unionisim.
(A)  American Union (B) Knights of Labour
(C) Labour Party (D) Merchant Union

T.B.C. : 14N14/ET—III 18
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35.

36.

37.

38.

The Book ‘Sociology of Economic Life’ is written by :

(A) N. J. Smelser (B) J. Schumpeter
(C) E.V. Schneider ‘ (D) Max Weber
A trade union employs the method of....oovveennnn.. .

(A)  Collective bargaining (B) Arbitration

(C) Strikes (D)  All of these

The book ‘Industrial Society’ is written by :
(A) N. J. Smelser (B) J. Schumpeter
(C) E.V. Schneider (D) Max Weber

Economic organization is concerned with :

" (A) Ordering of human efforts

(B}  Procuring of the necessities of life
(C) Maximizing

(D)  All of the above

T.B.C. : 1414/ET—III 20
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39.

41.

42.

Find out the correct match :

(A) M. K. Gandhi—Mixed model of development

(B)  Amartya Senf-Social Capability model of development
(C) Vinoba Bhave—Swadeshi Model of development

(D)  J.L. Nehru—Sarvodaya model of development

Growth, development and continuity are found in which of the

following ?
(A)  Progress : (B) Diffusion
(C) Revolution (D)  Evolution

The concept of human development has its origin in the writings of early

economist/s.................... ;
(A) Adam Smith (B) David Ricardo
(C) John Stuart Mill (D)  All of these

The term ‘Sustainable Development’ first time appeared in..................... 5
(A) The Limits of Growth (B)  Environmental Challenges

(C) Our Common Future (D)  Future Lives

T.B.C.: 14/14/ET—III 22
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45.

................................ points out that role of rich countries in underdevelopment

and backwardness of the less developed countries of the world.
(A} W.W. Rostow ' (B) Edward Shills
(C)  I. Wallerstein e (D} Samir Amin

................................... look at the history of development of capitalism in the
west and economie relationship between the rich countries of the Europe

and colonial poor ones.

(A) Theur?- of Unequal Exchange
(B)  Theory of Realistic Development
(C)  World System Theory

(D) Theory of Underdevelopment

S. Amin divides the World Systems inte two sectors - Self-centred Systems

31 SRR
{.ﬁ.} Inner Systems (B) Core Systems
(C)  Peripheral Systems (D) Colonial Systems

LB.C.: 1414ET—II] 24
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46.

47.

S.C. Dube has recognized four dilemmas of development; These are :
Development Vs." Non-development, Indigenous development Vs. Foreign

development, Self sufficiency Vs. Interdependence and............o....... ;
(A) Growth Vs Distribution
(B) Individual Vs Collective

(€) Dependence Vs. Interdependence

(D) Modern Vs. Traditional

The Industries Act; 1951 wﬁa ........................ =

(A} not to allow expansion/establishment of industry without licence given

by the central government
(B} ceiling on expansion of industries
(C) regarding trade union

(D) regarding workers’ family

Indian Middle Class constitutes around...................per cent.
(A) 55 (B) 50
© 35 - D) 45

T.B.C.: 1414ET—III 26
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50.

al.

52,

23,

.............................. believed that the Hindu religion of India did not have the

potential to promote entrepreneurship.

{ﬂ}- T. N. Madan (B) K. Marx

(C)  David MecClelland (D) Max Weber

Globalization refers to the f‘rea flow of capital, ..o across national
boundaries.

(A}  Labour (B)  Technology

() Knowledge (D)  All of these

............................ are of the opinion that globalization is real and everjr;.nrhere.
(A)  Pre-globalizer (B)  Hyper-globalizer

(C) Colonialist (D) Socialist

Giddens argues that globalization promotes......................... among people.

(A)  group identity consciousness (B) elite group consciousness
(C)  self identity consciousness (D)  poor group consciousness

coonenn.Of West argue that patriarchy implies ‘problematic

essentialism’, because of its implicit theory of gender inequality.
(A) Liberal feminist (B) Post-modernist feminist

(C)  Struetural feminist (D)  Radical feminist

T.B.C.: 1414/ETIII 28
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55.

H6.

57.

............................... tried to analyse gender relationship in the binary of male

and female,

(A)  Assertive feminism ) (B} First phase of ferninism
(C). Reformist feminism | (D}  Accommodative fem’inism-
The word ‘gender’ was for the first time used 2 TRV in 1971,
(A}  Ann Oakley (B}  Sylvia Walby

(C} C. Marsh (D} V. Woolf

‘Sexual Politics’ in written by :
(A} -Simeone de Beauvoir (B) Kate Millet
(C)  Ann Oakley (D}  Nancy Bauer

Who argues that the theory of difference rather than theory of equality may

be more rewarding strategy for legal feminist to pursue ?
(A)  Catherine Mackinnon (B) Carol Smart

(C) Mortha Fireman (D .Ratna Kapur

T.B.C.: IM14ET—IIT 30
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a8,

29.

60,

61.

' The Hindu Widow Remarriage Act of ... legalized the remarriage

of Hindus of all castes. |
(A) 1933 (B) 1856

©) 1955 ' O 1900

(A} Radical feminism , (B} Pust-rgdical feminism
(C)  Marxist feminism () .Lib-éral feminism
‘Second waﬂ;rel of feminism’ in America is related with :

(A} fight for civil rights of Black people

(B)  Voting rights

(C)  Equal wage right

(D) Property rights

"The Power of population is greater than the power in the earth to produce

subsistence for man’, who said this ?
(A} Landry (B) Malthus

(C) Hoover (D} Dument

T.BC.: 1414/ET—I11 32
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62.

63.

64.

B5.

remsseeesnsbElieved that agrarian peasant society is characterized by high

birth and high death rate.

(A}  Coale and Hoover (B) = Rechard Easterlin

(C)  Arsene Dumont ) (D) J. C. Caldwell

Malthus has identified.............cooooooii .. and positive che-:*-ks on population
growth. |

(A)  Negative (B)  Prohibitive

(C) Preventive (D)  Punitive

Who postulated that there is no natural or universal law of population

growth 7
(A)  Engels (B) Cannon
(C) Marx (D)  Cohen

Natural increase in population refers to
(A)  Difference between birth and death rate
(B)  Addition of birth rate to death rate
(C)  When birth rate is equal to death rate

(D) None of the above

T.B.C.: 1414ET—III 34
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66.

67.

68.

69.

70.

The population growth rate during 1991-2001 has been :

(A) 19.6% (B) 21.34%

(C)  20.96% (D) 19.28%

Who constitute the third major group in India ?

(A) Hindus | (B) Muslims

(C) Jains e (D) Christians

The average density of population of the country as per 2001 Census is :
(A) 324 persons p{;r &q. km (B) 320 persons per sq. km

(C) 267 persons per sq. km (D) 350 persons per sq. km

The number of daughters born to women of every 1000 while passing through

reproductive stage is ;

(A) Net Reproduction Rate (B) Gross Reproduction Rate
(C) Total Fertility Rate (D)  None of these
......................................... is the number of deaths of infants before attaining the

age of one year,
(A) Infant Mortality Rate (B)  Age-Specific Death Rate

(C) Crude Death Rate (D)  Cause Specific Death Rate
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T1. ._ﬂmtual reproductive perfurmaq::e danf:tes -
(A) Fﬂr:undity. (B) Fertility
(C) Marriage (D) Steﬁlity
72. Mm;ement. within_l a munt;'jr into a particular area is called :
(A) Migration (B) Exodus
(C) In-migration | " (D)  Out-migration
73. The causes v:ff decline in Mortality Rate is due to :
(A) Elimination of famines (B} Control of epidemics
{l'.;}}r Healthcare programmes (D)  All of these
74. National Population Policy was _ﬂdﬂpt&d in :
(A) 1986 | (B) 1971
(C) 1976 | @) 1974
75. Which ‘Five Year Plan’ emphasizes on the Family Planning Programme ?

(A) Fifth Five Year Plan (B) Fourth Five Year Plan

(C) First Five Year Plan - (D) Third Five Year Plan

TBC : 14N4ET—IN AR



71. ArafaF WO freaea Tie ¥

(A) CEE IR LGl | B) T
(C) EE I @) =T
72. TH @ @ @ fedt fare &3 ° wEmefa g e 1
(A) L EED] (B) Fri
(C) =R wa=A (D) =" vEs A
73. T < ¥+ 23 e et CE e
(A) e faei (B) e i Frer
(C)  wr @ W D) & wsd
74, TS SEEE ,ﬁﬁ.ﬁ o @ TE @
Sk 1886 ®) 1971
(C) 1976 ' O 1974

75. WA YFEdig e oftEr e fom ® vem 3 ¥ 2

(C) WgH UY=EaHE IEE (D) gl deEdly A9

T.B.C. : 1414ET—III 39 _ P.T.O.



